o|J

@ 3x+5x=-2+1

D 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-5x=-2-1

B 3x+5x=2-1



@ x=x-2

D x+1=1

1

@ 2x-3

2-2x

® 2(x-1)

® x(x+1)=-2x+1



3x+T7=-5x-1

3x+5x=-1-[ |
=[]
ax= ] .

A= & 22

Ll
i

7kl Soizt 4

® 7,2,-8,-4 ® 7,8,-8,1 ® 7,8,-8,-1

@ -7.8-8, -1 ® -7.8,-8.1






17t x=-1 L4 o}, a 9

=1 9] 3

a(x—1)

ax+ 2
A]

ﬂo
mo

Y

@1

® 0



ox=3=17

sx=7+]_ |

5x =10

B 3

B 7

® —-5x



AL

i)
mlo
ol
s
o2
filo
jus)
=
[
2
rsk

®2x-3=1—> 2x=1-3
@ 3x=5-2x 53x-2x=5
® —2x=8+x > -2x+x=38
@ 5x+2=4 > bx=4-2

B 2x+1=—x4+4— 2x+x=4+1



@ x=-20
@ x=10

@ x=-12

G x=14




%1 ‘].1:1]—7(4 /UQJ 32%

o o 1

@ EA hee aFE x o] A o2 yehdn

o
He
u)

©)
@ g4
©)



Al 5x+b=ax—27} 3 72 & 7HA 2 A9

@ a=5,b+-2 ® a#h

® a+5 b=-



2 vepd o,

K
=

?‘

O
=

a-b 2l 3k

@ 2 B 7

3 0

©)

D -14



@D 2x-4=—x
® 4(2+3x) = —6x-28
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